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Q5.  If a matrix has 5 elements, write all possible orders it can have. 

Answer:  Since a matrix of order mൈ n has mn elements, hence here mn=5 so possible values are are 
m=1, n=5 or m=5 and n=1. All possible ordered pairs (m, n) of positive integers whose product is 5 are 
 1 ൈ 5 and 5 ൈ 1.  

 

Q6.  Evaluate: ׬ሺܽݔ ൅ ܾሻଷ   ݔ݀ 

Answer:  Let I ൌ ݔሺܽ׬ ൅ ܾሻଷ   ݔ݀ 

Let ݑ ൌ ݔܽ ൅ ܾ  

Differentiation w.r.t. x, we get  

ௗ௨
ௗ௫
ൌ ܽ ൅ 0 ֜ ௗ௨

ௗ௫
ൌ ௔

ଵ
  

׵ ݔ݀ ൌ ௗ௨
௔
  

׵ I ൌ ሻ૜ݑሺ׬   . ௗ௨௔   

ൌ ଵ
௔
ሻଷݑሺ׬    ݐ݀ 

ൌ ଵ
௔
ቀ௨

ర

ସ
ቁ ൅ ܿ  

ൌ ଵ
ସ௔
ସݑ  ൅ ܿ ֜ ଵ

ସ௔
 ሺܽݔ ൅ ܾሻସ ൅ ܿ   

Where c is constant of integration. 

 

Q7.  Evaluate: ׬ ௗ௫
√ଵି௫మ

   

Answer:  Let I ൌ ׬ ௗ௫
√ଵି௫మ

ଵ
଴  

ൌ ሾsinିଵ   ሿ଴ଵݔ

ൌ sinିଵሺ1ሻ െ sinିଵሺ0ሻ  

ൌ sinିଵ ቀsin గ
ଶ
ቁ െ sinିଵሺ0ሻ  

ൌ గ
ଶ
െ 0 ൌ గ

ଶ
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Q8.  Write the direction – cosines of the line joining the points (1, 0, 0) and (0, 1, 1). 

Answer:   

We know that direction cosines of line joining points P(x1, y1, z1) and Q(x2, y2, z2) is given by 

࢒ ൌ ࢻ࢙࢕ࢉ ൌ ૚࢞૛ି࢞
ඥሺ࢞૛ି࢞૚ሻ૛ାሺ࢟૛ି࢟૚ሻ૛ାሺࢠ૛ିࢠ૚ሻ૛

  , 

࢓  ൌ ࢼ࢙࢕ࢉ ൌ ૚࢟૛ି࢟
ඥሺ࢞૛ି࢞૚ሻ૛ାሺ࢟૛ି࢟૚ሻ૛ାሺࢠ૛ିࢠ૚ሻ૛

 and   

࢔ ൌ ࢽ࢙࢕ࢉ ൌ ૚ࢠ૛ିࢠ
ඥሺ࢞૛ି࢞૚ሻ૛ାሺ࢟૛ି࢟૚ሻ૛ାሺࢠ૛ିࢠ૚ሻ૛

    

Therefore direction cosines of the line joining the points (1, 0, 0) and (0, 1, 1) are 
ିଵ
√ଷ
, ଵ
√ଷ
, ଵ
√ଷ
.  

 

Q9.  Write the projection of the vector ı̂ െ j ̂on the vector ଓ̂ ൅ ଔ̂ . 

Answer:   

 

 

 

 

Projection of  Ԧܽ on  ሬܾԦ  is ܽܿߠݏ݋ 
We know  Ԧܽ. ሬܾԦ ൌ    ߠݏ݋ܾܿܽ

Therefore ܽܿߠݏ݋ ൌ ௔ሬԦ.௕ሬԦ

௕
 

 
Here  aሬԦ ൌ ı̂ െ j ̂and bሬԦ ൌ   ଓ̂ ൅ ଔ̂  

Now projection of aሬԦ on bሬԦ ൌ   ୟሬԦ.ୠ
ሬሬԦ

หୠሬሬԦห
ൌ ଴

√ଶ
ൌ 0  
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Q10.  Write the vector equation of a line given by  ௫ିହ
ଷ
ൌ ௬ାସ

଻
ൌ ௭ି଺

ଶ
 . 

Answer:  The given line is 
௫ିହ
ଷ
ൌ ௬ାସ

଻
ൌ ௭ି଺

ଶ
  

We have standard equation of line as 
௫ି௫భ
௔

ൌ ௬ି௬భ
௕

ൌ ௭ି௭భ
௖

  

On comparing we get ݔଵ ൌ 5, ଵݕ ൌ െ4, ଵݖ ൌ 6 and  ܽ ൌ 3, ܾ ൌ 7, ܿ ൌ 2  

Fixed point vector 

aሬԦ ൌ xଵ ı̂ ൅ yଵ ĵ ൅ zଵ k෠  

ൌ 5ı̂ െ 4 ĵ ൅ 6 k෠  

Direction vector 

bሬԦ ൌ ܽ ଓ̂ ൅ ܾ ଔ̂ ൅ ܿ  ෠݇   

ൌ 3 ଓ̂ ൅ 7ଔ̂ ൅ 2෠݇   

׵ Vector equation of the given line is   

rԦ ൌ Ԧܽ ൅   bሬԦߣ

rԦ ൌ ൫5ı̂ െ 4 ĵ ൅ 6 k෠൯ ൅ λ൫3 ଓ̂ ൅ 7ଔ̂ ൅ 2෠݇ ൯  

 

 

 

 

 

 

 

 

 

 

 

 

 


